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2037371(025)
Dlp in Engg. (Third Seméster)
EXAMINATION, Nov.-Dec., 2023
(Scheme : NITTTR) |

(Blranc—h Mechahical) |
BASIC ELECTRICAL AND ELECTRONICS

Time : Three Hours ] [ Maximum Marks : 70 E

[Minimum Pass Marks : 25

Note : All questions are compulsory. In case of any doubt
or dispute, English version question should be
treated as final. |

et go aifart §1 fed off yeR @ g W faarg
ﬁﬁmﬁﬁs@ﬁm%mﬁﬁqw

ST |
UNIT—I
(§p1E—1)
1. @ State and-explain KCL and KVL. , 6

KVL T KCL @l W=y |

P.T.O.

e —————————T
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Derive the expression for impedance in RLC -

series circuit. 8
RLC «en uRwy ¥ gRaer forg wivte
T BT |

. Or

(srer)

Derive the relation between line and phase

voltage and current in star connected system. '8
©R e @ g aigd 1@ Be dieeo q
gRT ¥ e e i |

UNIT—II

(PR—1)
Derive the e.m.f. equation of transformer. 6
mﬁﬂ%%wﬂﬁ.iﬂsﬂ.ﬂﬂﬂ
PINTT | i
Explain the construction of Eaﬁaoz motor. 10
FeqaH Hiex & fmivr 31 aren i |

Or

(srer)

.Explain the construction of D, C. machine. 10

D. C. TF & fmiv o) aren Hifog |

[3] mnouﬂu.: (025)
UNIT—III
(@ré—mn)
3. (@) Draw and explain the V-1 characteristics curve of
a diode in forward and reverse biasing. 6
SR & 3 Py i ovg Sl @ R VI
el a5 diee Tt
(b) Describe the full wave bridge rectifier with
diagram. 8
7o W e o1 oo R it S
Or
(&)
. | (c), What is Zener diode ? How is it used as a voltage
regulator. 8
R SHR T 2 ? W died VAR Bl Hifd
DY IuaT fomar S § ?
UNIT—IV
fR—1v)
4. (a) Explain the working of NPN transistor. 6
NPN ZiftTeR @ R 3t FHER
() Explain the operation of transistor as an va_EoM.
& TR 3 TUATRR T W m. A

%%@f

P.T.O.
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or
(sreren)

'(c) Draw the input and output characteristic curves of
a transistor in CE mode. 6
ity @ CE IR @ Pc—m el ek
frfa sfeafre o difeg |

(d) Write difference between MOSFET and JFET. 4
MOSFET @ JFET a% é’lﬁ 3R f%frﬁam

UNIT—V
| (Fe—V)
5. (a) What is analog meter ? 2
T AR w1 E 7
(b) Explain the block diagram of CRO. 10
CRO & il® ANG B AT $IfY |
- Or <
| (orera
(©) Explam with the help of a block diagram the
opcratlon of function generator. ' 10
PR TRN & NG B wife AU A
VRl ¥ SR |

2037371(025) o, i
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; Dlp in Engg (Third Semester)
EXAMINATION Nov. —Dec » 2023
(Scheme : NITTTR)

(Branch : Mechamcal) 8
STRENGTH OF MATERIAL

Ew

I Maximum Marks 70

Time : Three Hours ] .
[Minimum Pass Marks : 25

. Note : Attempt all questions. Draw neat diagram wherever
needed. In case of any doubt or dispute, English

_version question should be treated as final.

wmﬁwmlm@wm
ﬁam|waﬁw$ﬁé€mﬁwaﬁ

ﬁﬂﬁﬁdﬁﬁ%?ﬁﬂ?ﬁﬁdﬁﬁﬁﬁt‘m|
1. (a) Define strength with formulae 1+_1
e @ < e aRwI E
| P.T.O.
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[z1 2037372(037) (3]
(b) Write any 7o main differences between stress . (c) A simply supported beam is subjected to three
and strength.- _ 2 point loads as shown in the figure. Draw the shear
ared @k ufese § @I% Q T 3] forRav | force and bending moment diagram. 8
: : | i | W AR
(c) Find the total elongation of object shown in the P simply supported beam @ Ed%
figure below, if the. cross-section area is L T AT # < f o ¥ o A ® | Shear
1000 mm?> and Young’s modulus s ) force @R bending moment 3ING Hifag |
E =100 GN/m”. 4
: _ - . 2 kN 5 kN Z kN
4R R W R § i 7¥ wg 9 gar AR
¥ qfy I AR, AR TG P TPRFT BT | A n,_~ _L« L\ i
gamd 1000 A’ & 3 Young's modulus
E =100 GN/m” & | , |
. ‘ - War ] . . Or
SOKN : SOKN ” maﬁmd
<« 40kN <—] |Wc_.ﬂz > A " A ’
o Draw -the shear force and bending moment
a b C d | diagram for a cantilever beam as shown in the
* 2m . 1 l+ 1 = | figure below.
m m . )
. : . ‘| C1E| Eﬁ_ﬁaw_w ¥ cantilever beam & oY shear
2. (a UQWE.Q cantilever beam with neat diagram.  1+1 o~ force 3R bending moment anNg Fifeg |
Cantilever beam @1 W@ Y@ifya o1 Wewgar 9 w /unit run W
| Pavavata (et

GRHTNT P |

(b) Define point of contraflexure.

Point of contraflexure ®I URHIYT BHIforg | . . —
| P.T.O.




(b) Write the im

Section .Eomc_cm

the maximuim b
ow in the figure:

© Calculate

DI
ending

2037372(037)

1

stress for the T-

section given bel w
about neutral axis = 3.4 kN-m- .
fr Ry T i @ g AR She
o 9 B TG I P qRe: T B
3.4 kN-m efiivig |
150mm
L

50 mm

v
150 mm

i 2

>

50.mm

N |

e. Take moment -

(@)

[51 2037372(037)

Or

(ereren)

Calculate the BS&BE: shearing stress developed
in the I-section béam for a shearing force of

10 kN.

10 kN Feahl 7@ @ Rrg 1Hem A feR
R BRa Hfead Fra BIg |

15cm }

2Zcm %
L
N

NG

<> Icm

30cm |

3> e
N

2cm ;
15cm

Write the formulae of double integration methed.
1

Double integration method @I A forfau |
What is the value of slope and deflection at the

fixed end of a cantilever beam ? 2
Cantilever beam @ fixed end W slope 3R

deflection T T T &l & ?

(b)

P.T.O.
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[6]"
(c) Find the deflection and slope at the free end of a
cantilever beam subjected to a moment H,u.;

(a)

(b)

(©)

clockwise at the free end.

I RR W o:mh& M (clockwise) T cantilever
beam @ TH RR W w3k Fe @
HIfTT | | .

, Or

o)

Find the -deflection and slope at mid-point of a

simply supported beam of span / o.Ed&.m a CU%

%von::w_\::o<o~50€=o_o%§.
] @18 @ simply supported beam W—.mmwﬂﬂ
E W w IR R AR o g, @ g
W fA8T 3R slope TG PINT |

Write the formulae of spring index of a spring. 1
Spring @ foIY spring index @7 S{A @@.ﬁ:

Write any swo daily life applications of helical
compression spring. .

2
R weler RiT @ @ & RE ol
AT o | |

A helical compression spring is made of 12 mm
diameter steel wire wound on a 120 mm diameter

mandrel. What force must be applied to the.spring
to elongate it by 40 mm ? Take number of active

coils =10 and G = 82 GN/m>. 5
1% UgeR v R 12 el @ g Wia
aRR ¥ g1 g3 & Wifd 120 frl, @ grer gl
W oer g3 71 e @Y 40 il e @ R
fser qe1 SRMAT &= &1 ? wifiby qusforal
PI | =10 V4 G =82 GN/m> iy |

6.

(a)

- (b)

©

(@)

(b)

(71 2037372(037)

Define Principal stress. 2
Principal stress @\ afenia ®ifow |

Write the formulae of maximum shear stress and
name the notations used.

w

A short metallic column of 500 mm? cross-
sectional area carries an axial compressive load of
100 kN. For a plane inclined at 60° with the

direction of load, calculate : 3+3

(i) Normal stress

(i) Maximum shear stress

500 ¥’ FTTE-GRE $ &% T TE B
‘T 100 kN &7 U6 FET T R T8

R @ ¥ MR B I F 60° R g I+

el B _rm.E. ST PIg :

(i) Normal stress

(i) Maximum shear stress

What is the relationship between equivalent
length and actual length of a column in case of

" both end fixed ? 1
7

) wer @ A AR e 8 @ Rl
aﬁ%ﬁ%&ﬂﬂ&%%@&ﬂﬂm%&m
T G & ? ;

"Write the Euler’s formulae to calculate critical

load for a column or strut and name the notations
2

Al W T T @ P UR T aRA A
TR W G QR AR SN @y Mg wad
frgl @ A AT _

. used.

P.T.O.
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 (c) Calculate the safc compressive load on a hollow

@

(b)

(c)

“cast iron column (one end rigidly fixed and other
end hinged) of 150 mm external diameter,
100 mm internal diameter and 10 m length. Use
Euler’s formula with a factor of safety of 5 and

E = 95 GN/m>. 3ﬁ5-\r
150 ). s g, 100 A amﬁmwm

10 WX THE T GEe BRE AT WH W
R Wi WY A TR S| 5 @R
mzﬁmwaﬁaﬁ?E—%GN/m ki

BTN I |

Write the formula of polar moment of mertla for a
solid circular section.

-Waﬂmm?ﬁmgﬁummw

I LA =0 DI |
Write the torsion equatlon and name the notatlons
used. | 2

TorswnW?T’ﬂ?ﬂ“Tﬁ*fﬁéNGﬁ‘\’WﬁfﬁW
Hod foeel o1 M faay |

A solid circular shaft transmits 75 kW power at
200 r.p.m. Calcula_te the shaft diameter, if the
twist in the shaft is not to exceed 1° in 2 metre |
length of shaft and shear stress is limited to

50 MN/m?. Take G = 100 GN/m?. 5

WWWWZOOrpm tI'\’75kWEfﬁ
Uit WaRa vl ¥ ) W D @ @) TuE
Wﬂﬁz‘ﬂmﬁmwﬁmm
T 8 3R BRaN ARET 50 MN/m? @ 3@ AT

'EﬁlG—mOGN/m ?ﬁﬁ:‘m

2037372(037) ( 1,680
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20373730037

 Dip.in Engg, (Third Semester)
”EXAMINAHON, Nov.-Dec., 2023
(Scheme : NITTTR)"
(Bmlich': Mechanicai) 4
THERMAL ENGINEERING

[ Maximum Marks : 70 -

. Time : Three HOUI‘S] ‘ ' ‘
) . [Minimum Pass Marks : 25

Note : All queStions' are compulsory, unless, mentioned

_otherwise. In case
version question should be treated as final. Use of

Mollier diagram and Steam table is permitted.
ﬂvﬁmﬂerﬁaré%,_mw-ﬁszﬁﬁmﬁqﬁﬁq
mﬁIM%ﬁmaﬁéﬁmﬁaﬁﬁmﬁ

¥ G T @ S @ S A S| AR

<y 41 W ST & SwET A A 8

1. (a) Define a thermodynamic system. Explain its
different types. ‘ 3
gomfid 71 o Rafi A Ee R
JRT ) e B |

P.T.O.

of any doubt or dispute, English



, (31 2037373(037)
2037373(037)
(2] . ~(b) Dilferentiate between 2-stroke enginc and 4-
(b) Differentiate between reversible and irreversible stroke engine. 3
process with examples. Ju ! 238D gl 3N 4B O o dag AW
%ﬂ%%ﬁﬂ%%aﬂ%&aﬁ AR
e INTT , (b) Derive expression for efficiency of Otto cycle,
(c) Show that the COP of heat engine is greater than , Dual ¢ycle and Diesel cycle. 8
COP of a refrigerator by unity. 6 . ae) @, I T o Seret aF B L 3
v m@mﬂ_@ﬂémﬂﬁgmﬁ%ﬂwﬁ% | | fre AR
cop ¥ T& I BT B _ : .
or :
| (arere)
() | . . . :
3 . ) ; A Diesel engine has a compression ratio of .E
s mmmdm N mu.o==“_w kg air expands wBE _ , and cut-off takes place at 6% of the stroke. Find
: : Mwnwawmw_wﬂmamwmﬂu M”M &wﬁmﬁ._.vﬁwnw_._.bﬂo%hwwo the air standard efficiency.
, (ii surroun 3 ] )
(iii) the universe. W SoTer o @ e gu 14 g ? 3R
M 5 I v N KN -
@ g R @ IRA W@ gyaes w1 A pe-aits W B 6% W T § | A @ EA
o fom T 1 ¥ 10 WAL @@ Gedl Bl T HITC |
() g G) R4, (iii) SElS @ TR TRt 5 @ Define the following terms : ; 3
@I _ "~ (i) Sensible heat
3 - (ii) Critical point
, © (iii) Degree of superheat

2. (a) Define the following terms :
- (i) Indicated power
(ii) Brake thermal efficiency
(iii) Brake power
farferfd ﬂﬁw @ AT %a , (vi) Latent heat
() gf3a wfad i fpferiae el B aRfe BT -
(i) AP ofel qe \ () S S .
(i) 3% Ui S .

(iv) Dryness fraction
(v) Saturation temperature

P.T.O.




2037373(037) o
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e [41°
) DRwadEe
: = 4. (a) Define Boyle’s | ’ )
iy e A R L i WA
. : - ‘ 2
Euﬂ_@ﬂ dige @ o R e 3 faw a1 Rafe
(v} Eq« aM . b BIfoTy el 3 @ i AT |
(- Ta 5 + 2B, | (b) Prove that P~V = R for an ideal gas, where Ris
(b)-- Define triple point. Explain with reference to P-V [ 8 L the gas constant. . 2
diagram. 3
: , ; . Rig ATT T amed _ V=R
.@mﬁﬁ%%_igﬁai . S .@w_ % % forg PV =R Wl
# st | | | g
(c) Determine enthalpy, specific volume and entropy () A mass of N.Nm kg of nitrogen occupying 1.5 is
for mixture of 10% quality at 0.15 MPa. 6 | heated from 25°C to 200°C at a constznt volume.
015 MPa W 10% Ol 3 fEo @ fora 5 Mm__noc_mﬂw the initial and final pressures of the gas.
ﬁn&ﬂw Afire R _ ake universal gas constant as 83143/kg-mol K.
' HEaT T4 T STl m_“:w_m._ . , . The molecular mass of nitrogen is 28. 6
A _ 225 kg FISgIoM &I 15 1 ®IF TR 8, 25°C
Draw the followi HE . ¥ 200°C OB UF IR AT § T {1 e
A.v_.méw _..w ollowing charts for steam : 3 i & e @R S Tl @
i) P- . all X ! _.__
i) T-V , - ARy | gFieia A Reris 83141/kg-mol K Al
o - | TR BT e T 28 €
(iii) h-s . S A .
@iv) T-S . . | - Or
Discuss the various lines. 4 | (sreraT
ql B @aw_ﬂ@@ﬂ e g137 - - 1kg of ideal gas is heated from 18.3°C to 93.4°C.
@ PV _ : Assuming R = 0.264 ki/kg-K and r = 1.18 for the
() T-V gas, find :
(iii) h-s (i) Specific heats
@(iv) T-S . (i) Change in internal energy
(iif) Change in enthalpy-

P.T.O.

%ﬂmﬂ_ﬁm&%@f

~



Hifod |
or
@mﬂv air ooanawmoﬂ is
s rocating s
i tage recipro ir oo =
- &.:www% ntEomm 1 kg oﬂwﬁm M = L e
reqt e initi erature °C. DI
itial tempt | C es:
i ‘?N MM&SEQE in the following
e WOrK .
Mw mmo_..:o::m_ noﬂmﬂwwmw”osmsa
it ession .
= St E?omm_o_g

2037373(037)

2037373(037)

Frefefa nga&ﬁmsw W 27°C R
O gy T PR

(i) = constant 3 zry <
i) g g

6. (a) Define the following terp,
: 4

() Thermal conductivity
(ii) Thermal diffusivity
(iii) Absorptivity
(iv) Reflectivity
i vt 3 aRefg BTG -
() o Defaehed
(i) o RergfRfd
(iii) STy
(iv) Yrfefid

(b)  Explain Planck’s distribution _m? 2

e B fodaR fRm 9 @ P

(c) A boiler is made of iron plates 12 mm thick. If the

temperature of the outside surface be 120°C and
that of the inner 100°C. Calculate the mass of the
water evaporated per hour. Assume that the area
of heating surface is 5 and k for iron as 84 W/mK.

8

P.T.O.
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]

[ 3 1 2037373(037)

T der 12 fr. A AR @ e W T e
Bl AR I WA B amEE 120°C 8@ 8k
NAR® 100°C wfi & @i gl & geme %)
AT DI | W of fo T wdE &1 a9 5
2, 3R @R B foIU k=84 WmK 2|

Or
(srera)
Water is pumped through an iron pipe (k = 67.2
W/mK), 2 metres long at the rate of 1000 kg/min.
The inner and outer diameters of the tube are 50
mm and 60 mm respectively. Calculate the rise in
temperature of water when the outside of the tube

is heated to a temperature of 600°C. The initial
temperature of the water is 30°C. x|

T A8 B URY (k=672 WimK) & ArRgd
il 9 fear S R, 1000 R /fee @)
R W 2R G AN ¥ =@ B WA iR
a]gﬁmmm:'mmmsﬁi’mmm g UMl ®
AT 7 9fE BT AR, o B
¥ 600°C B AWM W TRY fbar s & ol
&1 URMS T 30°C 2| S

1630
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Dip. in Engg. (Third Semester)
EXAMINATION, Nov.-Dec., 2023
| ~ (Scheme : NITTTR)
(Branch : Mechanical) .
MACHINE DRAWING AND COMPUTER
- AIDED DRAFTING
Time : F our Hours 1 ' [ Maximum Marks : 70
' . [Minimum Pass Marks : 25

Note : All qﬁestions are compulsory, unless mentioned
otherwise. Use first angle of projection. Draw
symbols in drawing sheets only. Marks on each
question are as inscribed with question. In case of

" any doubt or dispute, the English version question
should be treated as final. - o
i v afard &, 5@ 9o b od g fnda
%mﬁlumﬂvﬂﬂn’awﬁfﬁwmhaﬁﬁlﬁl
dad g e d wid T e W R 3D
g @ e aifea ¥ frd @ ER @ WeE W

| ﬁamaﬁﬁaﬁﬁmquﬁmﬁﬁmw
oifgT | . Sl

P.T.O.
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1. - A vertical square prism base 50 mm side is completely -

penetrated by a horizontal square prism, base 35 mm
side so that their axes are 6 mm apart. The axis of the

horizontal prism parallel to the V.P. while the faces of-

both prisms are equally inclined to the V.P. Draw the
projection of the prism showing line of intersection. 10

v SR o fier 8 o so Pl @ff @ @ @
dfawt o fiew 9w oo 35 M ERT 39 WOR WAw

foan s & e ST 49 6 fEll s @) AR
B @ g8 V.P. & TWIW 2 96fd < S @ A
VP ¥ U6 WA go §Y 1 Bew @ wehewr el

oo FE YT B Tl |
or

(srera)

A vertical cylinder of 80 mm diameter is completely

penetrated by another cylinder of 60 mm diameter,
their axes bisecting each other at right angles. Draw

their projections showing curves of penetration,

assuming the axis of the penetrating cylinder to be
parallel to the V.P. . .

80 fAdl. @y &1 Seakr Rieler 60 Rl @ & v
Reeivst a1 30 v & wawr famar o &1 S g

- TP GER Bl GO W Fred & | 999 7R Rilex &)

g0 B V.P. B WAR AHHY, U DGR I TH

@I IR EY WA g1 |

[3] 2037374(037)

A .
W_.N.E Eo.n_gn_ovsoi of the lateral surface of the part
Ot a cylinder whose front view is shown below. 10

§9 RitieR R vie o R mar 4, & e s
4T P 1 IR Py |

40

(srer)

Draw the mm«o_ovaoa of the lateral surface of the part
P of the hexagonal pyramid shown in fig.

R % R T vearhy Afe & T wae @
P &1 IR PifSmg |

o

! 4

H 89
g

lp

|

e
Y
M X W 4
.3 4

P.T.O.

AL ARR TR S TP R T T e
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e &

3. Draw the oo=<o=ao=m_ symbols of Fa.&o:o&:m :

4. Draw the mo:.oiw._m symbols :

[4] 2037374(037)

2x5=10

() Mild steel
(i) Counter bore

*(iii) - External thread
(iv) Key ways

(v) Elbow 45° pipe joint

Pl & TReRE g TR ¢
(i Hg =™«

(i) BN IR

Amc»mmu O

(iv) Bl 9

.3 TSy &1 45° Tedl g
2x5=10

() Straightness
(ii) Flateness
(iii) Circularity
(iv) Culindricity

(v) Parallelism

(s} 2037374(037)

() I L G
(if) - Tiverror
(iii) AR
(v) S
(v), AU
5. Draw details from given assembly drawing.
fod T el JET W fed Rt R
e

10

T
1
Y

|
ﬂ~;2815Q***:1 -
.- R NN R
/, N ;@S‘?? / i
T8
N
:v\‘-\..\&\
——‘9;':
7.
AV
7
4~28|50*"

l
+

P.T.0.

P.T.0.
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> : ils of a |

ven detal _ ‘

from _m wmmﬁ and draw Mrw [7] 2037374(037)
0

of to 7. (a) Draw ap orthographic view of given figure : 7

\ﬁ_._%.— J Q@ﬂmﬁ m&d . 3 m.nn:.oza front view
) yeact XD B =, (i) Top view

5 7Y

Q\-A ~g0 "‘l’m"‘\
A 88 el

Draw an isometric view of given casting.

fed 3 PIRET a7 sMgaie g qIRd |

.20 ~
; .
|
|
1
l
!
|
|
:
18

RN

— — — —— -

16

P.T.O.

e A e e e
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(b) Explain the following commands : Pt
(i) Copy
(ii) Mirror
(iii) Rotate
@ @
Giy e
(i) AT

2037374(037) g
b
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Dip. in Engg. (Third Semester)
EXAMINATION, Nov.-Dec., 2023
(Scheme : NITTTR)

(Branch : Mechanical)
MATERIAL TECHNOLOGY
Time - Three Hours ] [ Maximum Marks : 70
[Minimum Pass Marks : 25

Note : All questions are compulsory, unless mentioned
otherwise. In case of any doubt or dispute, English
version question should be treated as final.

mmaﬁaﬁﬁ,,mwﬁ?ﬁmﬁmﬁ
ferar €| el o yaR @ e r fda @ Refd

3 Ul 9 @y @ sifem HIET SR
1. (a) Explain unit cells. Describe BCC, FCC and HCP
structures. | 243

Uha U @ weemsd | @ L W@, e /W
wd 79, 9. . ke &1 o |

P.T.O.



(b) Explain the effect of grai

(@

(b)

Draw
interpretation in detail.

n size on property of
material. 5 |

ﬂﬁm%@aﬁ?%ﬂaﬁaﬂ_
Y |

Or
- @ |
What do you understand DY structural
of

imperfection ? Explain different types

structural imperfection. 2+3

SIS JguiaT ¥ 34 T e € ? R
TPR B HREITE A P FHAEC ]

What is slip and twinning ? Explain the difference
between the two. . . 3+3

Wﬁmﬁ%ﬂ:ﬁ%i%%%ﬁ&
PIIT |

Draw stress-strain diagram for mild steel m.:@
explain important points on it. 343
-7 g @ forg ftEe-fagh e ifg. @
o ) TR gl B W

iron-carbon diagram  and nxw_&,: its
545

Ay |

(31 2037375(037)

Or
(aroren)

Explain alloy. What are the effects of alloying on
material property ? 5+5

Ry @) WY | e & 7w g P @1 A

T Tl § 7

Write classification of cast iron with application and

properties. 74343

o de @ GliEw, SEE @ T B W

~ faRag)

Or
State the properties of copper which makes it important
as an engincering material. Discuss classification and

application of copper base alloys. 2+3+3

%aﬁi%aﬁ%ﬁﬁ«%
%?ﬁmﬁéw_%ﬁﬁﬂga
effepRor TR A | - |

Explain- polymer’s type. Enlist the properties and

applications of polymers. 3+2+3

P.T.0.




[4] ~ 2037375(037)

Or
Explain composite’s type. Enllst the propemes and
applications of composites. 34243

mﬁmﬁwm’rﬂwlmﬁﬂw$wsﬁz |
mm&le ’

(a) What is TTT curve ? Explam its mterpretatxon }
and usage. = | 24242

WWWWW%?MWJ
3R SN Pl Y | B |

(b) List the purposes of heat treatment. Differentiate
between annealing and normalising. 343

ww$mﬁ$ﬁww‘vﬁﬁm® ’
AengfoiT SR W By

. Explain any one destructive and non-destructive testing
‘with neat sketch. - 5+5

Wwwﬁmﬁrzﬁmﬁwﬁq\ﬁmaﬁﬁaﬂ%ﬁ T
A5V |



